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522 17 U18FBF/\> 7 —15(6.0kg) 0O A JOF )F MNEREIETIE #R)I Sk 52.12

523 18 U185 F/\> v —1%(6.0kg) EH BER 19%) +4F% ZHEABS ZHM =iR2 51.90

524 19 U185 F/\> v —1%(6.0kg) B PR SHh= kEEY BHS BB =iR2 51.88

525 20|U1858F/\> 7 —#5(6.0kg) [ VI VN A% Yraany HES 2 =3 51.87 HigFro L
526 21|U18B F/\> v —#%(6.0ke) N I\yBE a4 AfLE = =2 51.80

527 22|U1838 F/\> 7 —15(6.0kg) A WBE FLT 29F FENIEES] HH =2 51.78

528 23| U185 F/\>r7—1%(6.0ke) RE BER THYE Yaot4a PN HE =13 51.64

529 24|U18 38 F/\> 7 —15(6.0kg) Bme B3 ITB= FFk BEERE NC] =2 51.62

530 25 U185 F/\>r 7 —1%(6.0ke) X8 55H ¥/ 794 RES =5l a2 51.47

531 26 U185 F/\> v —#%(6.0ke) A & 9%95 AIRYT HASERS k) =2 51.42

532 27 /U188 F/\> 7 —1%(6.0ke) IS X NIST A Z2EHES Z250 a2 51.07

533 28 U185 F/\>r 7 —1%(6.0ke) AH I&E NIE aHx EERES B =2 50.92

534 29 U183 F/\> v —#%(6.0kg) miE BX BHNY FIoi £iEm NC] =2 50.69

535 30 U185 F/\>r7—1%(6.0ke) Bl #HE AVhT oY% EERNES It BB =iR2 50.36

536 31 U18F F/\> v —1%(6.0ke) pap LI %)) HhBHD Ok BABES tEE B2 50.33 2 FHIS
537 32[U18B F/\> ¥—1%(6.0kg) HBF EKX T V0B ARKEE= PN =2 50.29 a=yMun =4
538 33|U18B F/\> v —1%(6.0ke) HH KF EDZ =L ERIE =R a2 50.27 A=y run'—4
539 34|U18BF/\o v —15(6.0kg) FO & JOF Pay RS R =13 50.23 4=y run-4)
540 1 U8B FOYE WA i IUJF ank |FRFES =F =2 63.45

541 2 UIBBF Y% e B I/EF LAF MES &k =2 63.33

542 3 UIBBFOY# AH 5B RIH /LR LS &R =3 62.35

543 4|U18BFPYE A BT AXF¥ FoiOn | HUREES Iz B2 =2 60.78

544 5 UIBBF Y% %R BER T/INT NLE =HE Eirc) =3 60.76

545 6 UI8BFYI% KAR 1&F +AOR 3oF HAERGES W) B3 60.64

546 7 U18BF Y% A ¥iE YRE= EOF +2lEkS =B =2 60.26

547 8 UIBBF Y% WA EN FR AYRY = LN =2 60.05

548 9 UISBFYE FE AF VoY RIET mEGE = =iR2 59.96

549 10 U18BBF Y e Bk FHI® 2awIA4  BHAE= ] =2 59.77

550 11 U18BF Y B J/FE DIHE daund | hilEs ] =2 59.46

551 12 U18BBF Y HO BE BIF TA48Y oms i a2 59.44

552 13 UI8BFY#H LH ER Tawaw Ah7¥  EEe =E =3 59.44

553 14|U18BF Y fngE Mt hk Pany BRFES ;B =2 59.34 HiEFvro L
554 15 U18BEF Y ER ha TSN JEE AAES @ =3 58.86

555 16 U18BF Y M B S hUA hEm =g =2 58.77

556 17|U18BF Y% BT fB— VLS AT I AES FE =1l 58.65

557 18|U18BFPYix 1% MAFH x5/ )% fHIs = =3 58.23

558 19| U18BF Y EH MR 274 1k HEERS i) =2 58.04
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559 20|U18BF YK EE %ig® FTHE SFb+ TR It B a2 57.99
560 21|U18BF Y i &K FTHh=> 194 HERES dtimdE | Ee2 57.79
561 22 U18BFY# B/BE TX DIJ4 LAt BEXS BE =2 57.77
562 23 UI8BF Y 4E X It I9B Xits BiR =2 57.67
563 24|U18BF YK A SEiE YHES Pavd SRIEE] =S a2 57.44
564 25 U18BFY# #HE #IK LTSNS Lavs PNt KB =2 57.07
565 26 UI8BFY# Ei A/ TA3AY ERPEES HE =2 56.96
566 27 U18BF Y EE BA J94 3Fxk NS %S #wEN SR 56.93
567 28|U1BBF YK P& A® 1 H14% ?im.—; BR a2 56.87
568 29|U18BF YK XE BA THAL ok RHE il =3 56.57
569 30|U1BBF YK WA YIEL O9F HES = a2 56.45
570 31 U18BFYE A RE AAiB 3% RIS P! =2 56.39 #®REFH5
571 32|U18BFPYH B RE *9/ 84% FEIS =B a%2 56.38 4=y =4
572 33|UI8BFPYH A A TXE ARy AL HE a2 56.37 4=rybrun =4
573 34|U18BF Y B IE=AR Eot a9¥J0Y | ZREES R =3 56.21 a=rybrun=4
574 1/U18&F100m Nt BE Yy FEN Etmis 5] =2 11.72
575 2|U18&F100m wE 'R TYER TS LEEER -] =Rl 11.80
576 3/U18&F100m mEE 2 +HE =R PRERAPRERE B a2 11.81
577 4[U18%F100m i LHE FHh/ Ak HREES EfE B 11.83
578 5/U18&F100m BAR EE A=EF 32 AMNERKRAE e =2 11.83
579 6/U18& F100m FE BH% FIN Foda BRAYES =i =2 11.84
580 7/U18&F100m FHE R X YU/ REMES A a2 11.88
581 8 U18&F100m B &5 XIZ Y5 Em#EsS S =1l 11.94
582 9 U18%F100m =0 B Iv4 7a q:,ax:pa; E5N =2 11.96
583 10|U18&F100m =5 =E EAa =1 BEZERE BE B2 11.99
584 11|U18&F100m B EmAF 24 Fva E%E—?—Iit.—; RE a2 12.00
585 12|U18&F100m E[AY X454 ani FRLEES =8 ai 12.00
586 13|U18&F100m Sl FE QIR FYAh BINEES tEE B 12.00
587 14|U18&F100m FiR HE FhYh ah A= PN =3 12.00
588 15/U18& F100m WA o= YIEF VX EEIS -] =3 12.01
589 16|U18& F100m A D A¥XEF 29 i ES FE =2 12.01
590 17|U18&F100m A INE HHEL 2L B RS FE L =3 12.03
591 18|U18&F100m BHE FHE rERY EF FRAFRERS 250 =il 12.03
592 19|U18&F100m &%y Fil v/ 1)a BXELS =S =ix2 12.03
593 20 U18%ZF100m Wil AE IY¥YT v WRES =E a2 12.05
594 21/U18%ZF100m £ ME Hho U7 ERES 250 =ix2 12.05
595 22 |U18% F100m OR WEFZT47 AR aANFT7T47 Bl £ =2 12.05
596 23 U18&ZF100m At B% A2+H Uik BEZERES BE a1 12.06
597 24|U18& F100m XBE BETE *NT IS =ELS =I5 =i 12.06
598 25 U18&ZF100m =85 W T 4+ ERF e BE Bik2 12.06
599 26 |U18%Z F100m = e =7 LE FRAFRERS B =Rl 12.07
600 27 U18%ZF100m A Em HHES SF3 LA S Mgl | B3 12.08
601 28 U18%ZF100m AiE R AN Y BBt EEFFR SI a2 12.09
602 29 U18%Z F100m WE DE HH¥/N5 333 ENILE 5] =ix2 12.10
603 30 U18%Z F100m —=E B¥% =/3¥ 40 BEEXZEF= WA =3 12.11
604 31/U18%ZF100m RE %k NSH 2H FiE] L 7 KBt FE Ll a2 12.11
605 32|U18%ZF100m r— BRRTE F)— TUA REE R’R Ll 12.12
606 33/U18%F100m PN E k] *A<IT EF/ nEES =ER a1 12.13
607 34/U18%F100m R DF FTHhvY % BHES a5 Bkl 12.13
608 35 /U18%ZF100m N BIK VAT TA BEES B =2 12.13
609 36 U18ZF100m LN 5 IYLT FF FREES &8 =l 12.13
610 37 /U18%ZF100m B XFEKX NUES ELRE HWiam R’E =2 12.13
611 38 U18%& F100m EFY %ih FHk 39 Piv N IIN=T-) N= B2 12.15
612 1/U18&Z F300m ElCES €% NILF HEREES RIS 38.50
613 2/U18% F300m YAUTLX SAR—VEE | YUTLX ovv—vi7y | PRPERXFS R A 38.92
614 3 U18ZF300m Fik EHE FhYh 27 iR RE 11} =3 38.99
615 4|/U18%F300m RET 2 FTHIF T4 IS s =2 39.43
616 5 U18& F300m ALFaY FIHI5 [ALFay FIHIS | KERS BE =2 39.58
617 6/U18%F300m WE B <Y4 E3Y I hiIES Wifs =2 39.66
618 7/U18%&F300m EAX BE YEL IAAH BEEE HE =Rl 39.72
619 8 U18% F300m g Ha v/ EE REMES = a2 39.79
620 9 U18& F300m AILE #H IFNIE LA EEEE = a2 39.79
621 10|U18Z&F300m Y NLE LT BEZERES BE B2 39.80
622 11|U18& F300m 20 ¥& PEC I Rit¥iRm = =2 39.88
623 12|U18& F300m TH B YRE FXY ETRS L] =2 39.89
624 13|U18& F300m Wil %2 YIhT FUI EEEE HE a2 39.91
625 14|U18Z& F300m BEE #iE VI8 Foh BH7ES 2 =2 39.93
626 15|U18& F300m A & THE NILA REMES A aii 39.94
627 16|U18Z& F300m R KB YA THY tE=HS EE a2 40.04
628 17|U18%& F300m BE B3 RRNT 1Y LEEES = = 40.13
629 18|U18& F300m &% BE Y/ =Fh PRERAPRERE B =1 40.20
630 19|U18& F300m BE & H3H4 3am AXERS #wEN SR 40.25
631 20 U18& F300m BA N AA¥ NFa LS =R =1 40.26
632 21|U18%ZF300m & At $F 3B RAERE = =) =3 40.27
633 22|U18%F300m KR # OYNS hIT ERPAEES e = 40.33
634 23 U18%ZF300m & MEF 9= JhHa NEFE £ =ix2 40.33
635 24 |U18%ZF300m * A Y FK PRERAPRERS 25 B2 40.35
636 25|U18%Z F300m - a4= Yo MLRFE Rig =2 40.35
637 26 U18%F300m iH TE A¥I5 FT L=} B =2 40.36
638 27 U18%ZF300m EH HT Y4 72 EXr) B4 a2 40.39
639 28 U18%Z F300m WE EA Yt HUFE v N PN =2 40.41
640 29/U18%F300m AT 28 FI/8 T EHEXES He a2 40.42
641 30 U18%ZF300m BH BE AHA aoh RERMES 5] =2 40.42
642 31/U18%ZF300m il Bk F¥~v 15 FES I B a2 40.43
643 32|U18& F300m B Iy AR YF AHPLRE FELL B 40.47
644 33|U18%Z F300m BE £ NOER A/ Biaias B2 =2 4052
645 34|U18& F300m an = AEZ FHA Zils R =2 4053
646 35 U182 F300m il RE HEY< aFY zils = a3 4055
647 36 U18&ZF300m ENCIRCE S Hwow a5 REHS R =13 4058
648 37|U18%F300m ‘5 E R3Y ak/ PHEELZFE R =2 40.62
649 38/U18%Z F300m BIE 6% 23viav i+ E¥S all =3 40.63
650 39 U18%ZF300m EH HF 7H4E <2 A= PN =13 40.65
651 40 U18%& F300m TS HAY< IF3 HIMES F B2 40.65
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652 41|U18%ZF300m =0 23 YIJF IX¥ REBS EE =2 40.67 4=ybrun -4
653 42 |U18%Z F300m il EE AFHT NIV wts = Ehl 40.68 4=ybrun =4
654 43|U18& F300m E5 &5 THR E7+ REFES 25 =3 40.83 s=ybrun =5
655 44|U18%& F300m s B YI¥Ex 495 MRS tEE B2 40.86 s=ybrun -4
656 45|U18%& F300m EE= Ui Y3V EF4 BAIS X o1l 40.90 ='ybrun -4
657 46|U18%& F300m H#ghEn " LAF BRI RS #wEN BRI 40.90 4=rybrun =4
658 47|U18& F300m By %= *+9/ FHA KERE PN =2 4097 s=ybrun -4
659 48 |U18%Z F300m =M B2 EF 47X FYA BERNS 1) =2 40.98 4=ybrun =4
660 49|U18%& F300m hE &g FHEE NLE NEIE & =2 4098 =yhrun -4
661 50 | U18%Z F300m T P SELS N EEIE &8 =2 40.98 4=ybrun =4
662 51|U18%& F300m & B¥% 4= a4 BRERS #wEN B2 41.04 =ybrun =4
663 52|U18%& F300m IRA B YhES F¥Y BARETES FE =2 41.17 s=ybrun =5
664 1/U18%Z F800m BH KE hArAA Y BERRABES KK =3 2:06.59
665 2|U18ZF800m FL—)— KEBE  F)L—)— PzxY 2E G0 a1 2:08.72
666 3/U18ZF800m Fil tata FTHhy< & ENEYTE] & Ll =3 2:09.92
667 4|U18%& F800m BA A AHFE EAF EXRERS 2 =iR2 2:10.31
668 5/U18&F800m FH XA *4 2 BEYFRE ] Ll a2 2:11.21
669 6U18ZF800m &I X NEHT TYh FRAFRERS 250 =il 2:12.14
670 7/U18&F800m #ME BRE YJE A4h i) B 3 P v B =iR2 2:12.20
671 8 U18ZF800m WItR &nf YIr FY 2515 NC] =3 2:12.36
672 9/U18ZF800m R Ex INT LS BEHE PN =iR2 2:12.61
673 10|/U18X F800m ARE KEF JAVE TVYh BES BRE B3 2:12.86
674 11]U18XF800m S BRE AF7A4 ¥+ FEZES HE =2 2:12.98
675 12|U18X F800m BR 3D t¥NT Y/ R s a2 2:13.13
676 13|U18XF800m £ ¥ Fay AX/N SEXERES = B 2:13.41
677 14 U18Z& F800m SRR M3 Ih 32X PRAPRS B4 B2 2:13.82
678 1/U18&Z F1500m BA D <% aniL ERMES Iz B Bl 4:23.33
679 2 U18%ZF1500m NEE #5 ho=Y =F BRYES 2 a2 4:24.21
680 3 U18%ZF1500m IS Ah¥F Aq Il FE Ll a2 4:24.50
681 4/U18%F1500m HE &R [ L ] = a1 4:27.67
682 5 U18%ZF1500m HE Ek IYAHh =5 FHE B a1 4:28.34
683 6 U182 F1500m B EF ALT NIV EBRE LI EL ) 4:28.56
684 7/U18&F1500m EE E£T THhoo =H LESIXE ] =2 4:29.39
685 8 U18%ZF1500m Bl FK REYT A [IT=2E =l a2 4:29.73
686 9 U18%ZF1500m HNHE FN DFE T/ 2l B a2 4:29.94
687 10|/ U18Z& F1500m " B2 NYY TYA e B P 250 a2 4:29.97
688 11/U18Z&F1500m L ) DALT TS BEE B =3 4:30.07
689 12|U18Z&F1500m BA E# UI% 3% EERS =F =3 4:31.11
690 13/U18Z& F1500m T IKFH E3/ 1Y BRES BRE B2 4:31.27
691 14/U18Z&F1500m FHE B hog =¥ BRES BRE |Bk2 4:31.36
692 15 U18Z& F1500m s EE DAY i AT 2 BRES BRE B2 4:33.08
693 16 U18Z&F1500m INR R a4XE YF AERS BE =2 4:33.48
694 17 U18%& F1500m A& & Yo NILA EAHMES BE B3 4:34.09
695 1/U18&F100mYH(76.2cm 8.5m) [k &% ECIE e =5 =2 13.59
696 2 U18&ZF100mYH(76.2cm 8.5m) |4k FE /4 FH+ N PN =iR2 13.71
697 3/U18&%F100mYH(76.2cm_8.5m) | [FA *LE FUES LT ELPIDES PN a2 13.73
698 4/U18XF100mYH(76.2cm 8.5m) | KA = AAoR TAA N PN =Rl 13.75
699 5 U18&Z F100mYH(76.2cm_8.5m) | KF1 ©% Yk L1F ] B 3 P e B250 a2 13.79
700 6 U18&ZF100mYH(76.2cm_8.5m) | KF! H % *FY EF BEYFRE ] Ll =iR2 13.80
701 7/U18&F100mYH(76.2cm_8.5m) | Il =T FUhT =Hh BREES BRE B3 13.86
702 8 U18&Z F100mYH(76.2cm_8.5m) | ##ILl SREE Jav<T XX HEZES HE a2 13.91
703 9 U18&Z F100mYH(76.2cm_8.5m) |#a K ZEfE IR F7A REABILS =l =iR2 13.97
704 10|U18& F100mYH(76.2cm_8.5m) 3R A HE Hhz Y EAFERES | TE a 13.97
705 11]U18& F100mYH(76.2cm_8.5m) | /N ZE#D Ak SHE HBRHEES #wR)I ER 13.99
706 12|U18&Z F100mYH(76.2cm 8.5m) E% %£& "/ 2 IS FE =3 14.02
707 13|U18&Z F100mYH(76.2cm 8.5m) | E R 1/9L +¥%Y BIZE EE a1 14.05
708 14|U18Z& F100mYH(76.2cm 8.5m) A% + RO SV B EE a1 14.06
709 15|U18&Z F100mYH(76.2cm 8.5m) EiiF I H AhYH IEE FRAFRERS B =iR2 14.16
710 16|U18& F100mYH(76.2cm 8.5m) ARER £ AR % ERES BRE |Bk2 14.16
711 17|U18&Z F100mYH(76.2cm 8.5m) | ;&8 4CHREL 78+~ EFY FRERS BiE a1 14.17
712 18|U18Z F100mYH(76.2cm 8.5m) /R Hh3E /NS AR Brmis FhiE a2 14.17
713 19|U18&Z F100mYH(76.2cm 8.5m) #%EH VLD TYA EF/ #iDEE NC] =3 14.18
714 20 |U18% F100mYH(76.2cm 8.5m) |#H &A EeCEEDES wikEs =5 a2 14.21
715 21|U18%Z F100mYH(76.2cm 8.5m) Eif % Ahny a7 IS FE =l 14.23
716 22 |U18% F100mYH(76.2cm 8.5m) | RH —71t ~MEX ERAH RARAE LS = =iR2 14.24
717 23 |U18% F100mYH(76.2cm 8.5m) K8 EIH FTHUF ¥ RERES = a2 14.24
718 24|U18% F100mYH(76.2cm 8.5m) | =#F ILbE EEPEE=EH BERES It B2 1Al 14.26
719 25|U18% F100mYH(76.2cm 8.5m) | E Il $i% vIYY Ut BmEGE = =3 14.28
720 26 |U18%F100mYH(76.2cm 8.5m) B18 A& BHNY A4S hES FE Ll = 14.28
721 27|U18%Z F100mYH(76.2cm 8.5m) ZH F& AhE 5 HiiaE FE a2 14.29
722 28 U182 F100mYH(76.2cm 8.5m) A ##F A ES 450 NG 2 =2 14.31
723 29/U18%F100mYH(76.2cm_8.5m) | =1F EFR 33> RIH 25 250 a1 14.34
724 30 |U18% F100mYH(76.2cm_8.5m) |/NEAR 1D aFAr SF AR =F a2 14.34
725 31|U18%Z F100mYH(76.2cm 8.5m) HE FHE EZH TN Hiis "R =2 14.35
726 32|U18& F100mYH(76.2cm 8.5m) | H)I| #&& FHAD 2F MELZES &R S 14.37
727 33|U18& F100mYH(76.2cm 8.5m) [ /NFE B 3K o=y 4T EX57-4 KR Sh2 14.39
728 34|U18% F100mYH(76.2cm_8.5m) |IUE R YIH ¥ +BEE ik ) =iR2 14.40
729 35|U18& F100mYH(76.2cm 8.5m) | = A #E7E IYOF TYA WWFs R a1 14.40
730 36 U182 F100mYH(76.2cm 8.5m) 3B 5% +w)/ LA4F EMHES FE a2 14.41
731 37 |U18%Z F100mYH(76.2cm 8.5m) | F1F I ESYH L/ T B =il 14.41
732 38 |U18% F100mYH(76.2cm _8.5m) |/t th#ETE XYY aFk WiREs = =3 14.42
733 39 |U18% F100mYH(76.2cm_8.5m) K&} &) 7R ) ERIE RIS 14.47
734 40 |U18% F100mYH(76.2cm 8.5m) | FiR EE 19H 3y PRAFRERS 250 a1 14.48 14.55
735 41 U18% F100mYH(76.2cm 8.5m) [3EA [BIEH) EOF EFH SFIIE HE Bl 14.48 14.55
736 42 [U18& F100mYH(76.2cm_8.5m) [LUA BRI YIEF LS ES I It R =3 14.50 a=yMun =4
737 43|U18& F100mYH(76.2cm 8.5m) | =58 I =5 U4 MbEFE RIE o1 14.50 4=ybrun =4
738 44|U18& F100mYH(76.2cm 8.5m) AR 7 RE 7451 EEMIIS ms =l 14.51 s=tyhrun =5
739 45 |U18% F100mYH(76.2cm 8.5m) |#HE 35 E Hh3Y/ 2a HEE =/ a2 14.73 8=y run'—4
740 46|U18& F100mYH(76.2cm 8.5m) | A K22 B=Fh FUh ADEHES x5 =2 13.71(83.80m) 5= ybHom' =5}
741 47|U18& F100mYH(76.2cm 8.5m) [#AH 2% VE FUF RIGAAXRFE |Ri& =2 13.91(83.80m) 44" yhFun =4t
742 48|U18& F100mYH(76.2cm 8.5m) {RE Ei& Ay 7a RS R =2 14.07(83.80m) =1 ybFun =4t
743 49 |U18%Z F100mYH(76.2cm 8.5m) |k EZX JkY ThT AREES x5 =2 14.11(83.80m) 4=F"yhFon 4t
744 50|U18& F100mYH(76.2cm 8.5m) |/NE XX +5 +F= BMZFS R =3 14.36(83.80m) 4= "ybtun =4t
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745 1|U18%& F300mH gk FTE hb EHE RHEE FE =2 4292

746 2 U18% F300mH i BE LSV L NEFE R’E =2 43.24

747 3/ U18&Z F300mH 2l CoH NBrYR O/ AR dimE &2 43.40

748 4/U18% F300mH H #A VoE hI* ER %rﬁ.—, BR =2 4354

749 5/U18& F300mH PENELN HYIx HXER EARE R =3 43.75

750 6 U182 F300mH =E KR 9% INT Eﬁjcrﬂxjcﬁ@.—, PN =2 4379

751 7 U18& F300mH 1B B 29%Hh LAY FRZEEXFE |E =2 43.94

752 8 U18&Z F300mH FE KER FIN AYF BETIS 5F =ix2 43.97

753 9 U18%Z F300mH He %EE AFh = PN R’E =2 44.00

754 10/U18% F300mH B REixE INNEUES BERES I3 = 4413

755 11|U18% F300mH A BT AAY¥ toa BBRES =5 a2 44.17

756 12U18%F300mH ok E AXhY TAA PRERAFRERS 250 =ix2 44.19

757 13U18%F300mH A #F YHES ¥ BAKE 2 =2 44.32

758 14 U18Z&F300mH N avv ++ ] Vs 30 P 7 B =2 44.45

759 15 U18%F300mH A BE aw/ a4+ FEB ZiF =2 44.47

760 16 U18%F300mH )l thE YIHT AXF BERS G| =2 44.64

761 17U18%F300mH A BE aw/ 3% ERFERS BE a2 44.73

762 18 U18Z F300mH 85 D 74\ 330 M HEfES FE =3 4477

763 19/U18%& F300mH BIFF M0 Ryz 32 o] EiR a2 44.85
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